
1.  If 2 cds and 3 tapes cost £51, and 2 cds and 5 tapes cost £65, what is the cost of 1 tape?

2.  If a shirt and tie cost £45, a shirt and jacket cost £155, and a jacket and a tie cost £120, what is the cost of the shirt?

3.  If 2 cheese and tomato pizzas and one garlic bread cost £10.60, and one cheese and tomato pizza and 2 garlic breads cost £6.50, what is the total cost of 1 cheese and tomato pizza and 1 garlic bread?

4.  8 bolts and 6 nuts weigh 138 grams.  3 bolts and 5 nuts weigh 71 grams.  Work out the weight of the following:-

(a) 4 bolts and 3 nuts

(b) 11 bolts and 11 nuts

(c) 3 bolts and 3 nuts

(d) 1 bolt

5.  The numbers ½ , x, y, ¾ are in increasing order of size.  The difference between successive numbers in this list are all the same.  What is the value of y?

6.  The last part of a telephone number has four digits, e.g.


7814
1487
2103
2772

The last part of the telephone number can start with any digit apart from zero.  

The other three digits can be any number.  How many four digit numbers are there?

7.  If 100 dice show a total score of 361, what is the total of the 100 numbers which are hidden underneath each of these dice?

8.  A train leaves London at 11 am and travels at a speed of 60km/hr to Reading, which is 60km from London.  Another train leaves Reading at 11:30 am on the same day, and travels on a parallel track towards London at the same speed of 60km/hr.  At what time do the trains pass each other?

9.  In a directory of names of members of a club, 25 names are listed on each page, beginning with page 1.  On what page is the 730th name listed?

10.  Find the cost of 1 1/4 kg of carrots at £1.88 per kg.

11.  In a shop, pens cost 45p each and pencils cost 16p each.  What is the total number of pens and pencils that I can buy for exactly £2.60? 

12.  A cookery book recommends that the cooking time for a turkey should be calculated as follows:  36 minutes for each kg of turkey, plus an extra 34 minutes.  On this advice, how many kg of turkey would there be for a recommended cooking time of 4 hours?

13.  A bucket weighs 8 kilograms when full of water, and it weighs 4.8 kilograms when half full of water.  What does it weigh when it is a quarter full of water?

14.  Of the 26 boys in a class, 21 are right handed.  If 10 of the boys in the class wear glasses, what is the least number of right handed boys in the class who wear glasses.

15.  If 20th May is a Tuesday, what day is 20th June?

16.  Uncle Arthur is completely mad.  He adds up all of the even numbers between 0 and 1000 (including the number 1000), then he adds up all of the odd numbers between 0 and 1000, and finally he calculates the difference between the two totals.  What answer does he get?
17.   A mango costs five times as much as an orange.  I pay £1.74 for one mango and one orange.  Find the cost of an orange.

18.  In a garden there are three types of flowers.  One third of them are roses. 

A quarter of the rest are carnations. 

There are 30 asters in the garden.  How many carnations are there?

19.  Tom has 45p.  If John had 12p more he would have the same as Peter.

If Tom spent one third of his money he would also have the same as

Peter.  How much does John have?
1.  If 2 cds and 3 tapes cost £51, and 2 cds and 5 tapes cost £65, what is the cost of 1 tape?

First subtract 51 from 65 to find out what 2 tapes cost.    Then divide your answer by 2, to find out what one tape costs.  

65-51=14     

14 divided by 2=7    

Therefore one tape costs £7.
2.  If a shirt and tie cost £45, a shirt and jacket cost £155, and a jacket and a tie cost £120, what is the cost of the shirt?

2 shirts, a tie and a jacket cost £155+£45=£200

2 shirts = £200-£120=£80

1 shirt = £80 divided by 2

1 shirt = £40

3.  If 2 cheese and tomato pizzas and one garlic bread cost £10.60, and one cheese and tomato pizza and 2 garlic breads cost £6.50, what is the total cost of 1 cheese and tomato pizza and 1 garlic bread?

3 cheese and tomato pizzas and 3 garlic breads will cost £10.60 + £6.50 =£17.10

1 cheese and tomato pizza will cost £17.10 divided by 3 = £5.70
4.  8 bolts and 6 nuts weigh 138 grams.  3 bolts and 5 nuts weigh 71 grams.  Work out the weight of the following:-

(a) 4 bolts and 3 nuts

(b) 11 bolts and 11 nuts

(c) 3 bolts and 3 nuts

(d) 1 bolt

(a)  4 bolts and 3 nuts is exactly half of 8 bolts and 6 nuts which we know weigh 138 grams.  Therefore 4 bolts and 3 nuts = 138 grams divided by 2 = 69 grams.

(b) 11 bolts and 11 nuts is both the examples above added together because we have 8 bolts and 3 bolts = 11 bolts, and 6 nuts and 5 nuts = 11 nuts.  Therefore 11 bolts and 11 nuts = 138 grams + 71 grams = 209 grams.

(c) To find out the weight of 3 bolts and 3 nuts we first need to find out the weight of 1 bolt and 1 nut.  We know from our answer to (b) that 11 bolts and 11 nuts = 209 grams.  Therefore 1 bolt and 1 nut = 209 divided by 11 = 19 grams.  Therefore 3 bolts and 3 nuts = 19x3= 57 grams.

(d) We know from our answer to (a) that 4 bolts and 3 nuts = 69 grams.  we know from our answer to (c) that 3 bolts and 3 nuts = 57 grams.  Therefore 1 bolt = 69 grams - 57 grams = 12 grams.

5.  The numbers ½ , x, y, ¾ are in increasing order of size.  The difference between successive numbers in this list are all the same.  What is the value of y?

There are 3 jumps.  One from 1/2 to x, one from x to y, and one from y to 3/4.  We need to find a number that is divisible by 3 as well as 2 and 4.  This number is 12 so we change both fractions to 1/12s.  ½ becomes 6/12 and ¾ becomes 9/12’s , x becomes 7/12 and y becomes 8/12.  The answer is y = 8/12
6.  The last part of a telephone number has four digits, e.g.


7814
1487
2103
2772

The last part of the telephone number can start with any digit apart from zero.  

The other three digits can be any number.  How many four digit numbers are there?

First number of the 4 could vary between 9 numbers - 1,2,3,4,5,6,7,8 or 9.

If number begins with 1, the second number could be 1 out of 10 numbers -

10,11,12,13,14,15,16,17,18,19.

So variation for 2 numbers beginning with 1 is 10.

If third number has a varaition of 10 then each number above eg 10, 11, 12, 13 etc has

a variation of 10 eg 101, 102, 103.

So for 3 numbers:-

Total number = 1x10x10

Same for 4th number.  So if number begins with 1, the variations are 1x10x10x10=1000

But there are 9 different ways of starting the number so total = 9x1000=9000
7.  If 100 dice show a total score of 361, what is the total of the 100 numbers which are hidden underneath each of these dice?

The top and bottom number of a dice always add up to 7.  

100 dice will have a total of 700 if you add up top and bottom together.

If current score is 361 then the remaining score for the bottom is 700-361=339.
8.  A train leaves London at 11 am and travels at a speed of 60km/hr to Reading, which is 60km from London.  Another train leaves Reading at 11:30 am on the same day, and travels on a parallel track towards London at the same speed of 60km/hr.  At what time do the trains pass each other?

At 11:30am train A starting from London will be 1/2 way between Reading and London, 30 km away.  That is when the other one is going to start at the same speed from Reading.  If they are both going at the same speeds they will meet 1/2 way between their present positions.  If one is 30 km from London and the other is at Reading they will meet 15 km from Reading which will be after 1/4 of an hour so it will be 1/4 of an hour later which will be at 11:45am.
9.  In a directory of names of members of a club, 25 names are listed on each page, beginning with page 1.  On what page is the 730th name listed?

730 divided by 25 = 29.2.  The remainder will be on the next page so the answer is the 30th page.
10.  Find the cost of 1 1/4 kg of carrots at £1.88 per kg.

£1.88 per kg is the same as 4 quarters.

1 quarter is £1.88 divided by 4 which is 47p.

1 1/4 kg is the same as 5 quarters which is 47p x 5 which is £2.35.
11.  In a shop, pens cost 45p each and pencils cost 16p each.  What is the total number of pens and pencils that I can buy for exactly £2.60? 

Add 45p and 16p = 61p

Then 260 divided by 61 = 4 remainder 16.

Therefore answer = 4 of each plus an extra 16p which is an extra pencil.

Answer = 4 pens and 5 pencils.
12.  A cookery book recommends that the cooking time for a turkey should be calculated as follows:  36 minutes for each kg of turkey, plus an extra 34 minutes.  On this advice, how many kg of turkey would there be for a recommended cooking time of 4 hours?

4 hours = 240 minutes

240-34=206 - this is because every turkey needs an extra 34 minutes.  

Then, each kg requires 36 minutes so 206 divided by 36 is 5.7kg.
13.  A bucket weighs 8 kilograms when full of water, and it weighs 4.8 kilograms when half full of water.  What does it weigh when it is a quarter full of water?

8kg - 4.8kg = 3.2 kg which is the weight of half the water.

So all the water is 3.2 times 2 which is 6.4

Take 6.4 away from 8 to find the weight of the bucket = 1.6

So 1.6 + quarter of the water (half of 3.2 which is 1.6) = 3.2kg
14.  Of the 26 boys in a class, 21 are right handed.  If 10 of the boys in the class wear glasses, what is the least number of right handed boys in the class who wear glasses.

26-10=16    21-16=5 so the answer is 5

As there are only 5 left handed boys in the class, only 5 out of the ten glasses people could be left handed - so there must be a minimum of 5 left who are right handed.

15.  If 20th May is a Tuesday, what day is 20th June?

27th May = Tuesday

3rd June  = Tuesday

10th June = Tuesday

17th June = Tuesday

20th June = Friday
16.  Uncle Arthur is completely mad.  He adds up all of the even numbers between 0 and 1000 (including the number 1000), then he adds up all of the odd numbers between 0 and 1000, and finally he calculates the difference between the two totals.  What answer does he get?
2+4+6+8+10 = 30

1+3+5+7+9 = 25

Even numbers up to 20 = 110

Odd numbers up to 20 = 100

For every 10 difference is 5.

There are 100 x 10's in 1000

Difference = 100x5 = 500

17.   A mango costs five times as much as an orange.  I pay £1.74 for one mango and one orange.  Find the cost of an orange.

Orange = y   Mango = 5y  Total = 6y   

£1.74 divided by 6 = 29p  

An orange is 29p 
A mango is 5x29p= £1.45
18.  In a garden there are three types of flowers.  One third of them are roses. 

A quarter of the rest are carnations. 

There are 30 asters in the garden.  How many carnations are there?

1/3 are roses.  Of the remaining 2/3 a 1/4 are carnations and 3/4 are asters.

Therefore there are 3 times as many asters as carnations.  30 divided by 3 is 10.

Therefore there must be 10 carnations!

19.  Tom has 45p.  If John had 12p more he would have the same as Peter.

If Tom spent one third of his money he would also have the same as

Peter.  How much does John have?

Tom has 45p.  Peter has (45 divided by 3) x2 =15p x2 =30p

John has 30p - 12p = 18p!


